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| Time: 40 Minutes | Paper Math 2 | Total Marks: 25 |

| 2nd Month, 1st Week, 6th Day | Revision Test. |
Q.1. Choose the correct options. (1.25%4=5) -U /.,«l?'“'lgb.«b?w/;
@ 30+10=
@] 400 [ 40 Jof 4 |@] 4000 |
@ii) 20+30=
@] 30 || s0 J|o] 5 |@| ss |

(iii) When zero is added to any number, the result is the .
-cbn *’ﬁjﬁ;blgg&:.)ﬁfﬂ B2

(a) | Zero | (b) [Number itself 246608
(¢) | Greater number 2412 | (d) | Smaller number 1724
(iv) 35+ 13 =
@] 38 || 84 |©] 48 |@] 28 |
v) 15+12=
@ 7 |o 20 |Jo 33 |Jo 2 |
Q.2. Solve the following. (1x5=5) IS L5t
O 1| o | @ T ] o] @| T ]| o |
8 9 5 1 1 7
+ 3 + 3 9 + 5
W [ 1| o] W[ 1] o]
7 3 5 9
+ o1 8 + 9
Q.3. Solve the following.  (1x5=5) I L5t
[ o [ 1 o | i | H | T | o |
4 9 3 2 0 9

+ 3 0 9 + 9 1

i) | # [ T | o | @w | v | 1T ] o]
1 8 5 6 9 6
+ 6 + 2 9 4
W [ ] T ] o |
6 0 9
+ 3 0
Q.4. Solve the following. (1%5=5) IS L5t
() 15+13= (i) 20+18=
(iii) 27+ 15= (iv) 71+9=
v) 23+15=

Q.5. Rehan likes to play cricket. He buys a bat for Rs.390 and a ball for

Rs.208. How much amount does Rehan spend in all? Q)]
L?'ZrV"ulZ_ubf./-d,g].uf%u208)&1‘:?/:!%”3901&42_01-9l:'f}{.t‘»!:;&'/fulf.z
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H T 0]

Cost of bat ..:«x:f'd/L

Costof the ball = d/,vj/ =+

Total amount spent ﬁ/ J{u}// [ =




